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DATE: 24.10.2019 MAXIMUM MARKS: 100 TIMING: 3 Hours 
 

 BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 
Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  
Working Notes should from part of the answer.  

 

 

Question 1: 

(a) ,d firk us vius iq= dks vk’oklu fn;k fd ;fn og igyh gh ckjh esa lh-,- dh ijh{kk dks ikl dj 

ysxkk rks og mldks ,d yk[k dh jkf’k nsxkA iq= us igyh gh ckjh esa ijh{kk ikl dj yh ij firk us 

vius vk’oklu ds mijkUr Hkh ml jkf’k dk Hkqxrku ugha fd;kA csVs us ml jkf’k mxkgh ds fy, ,d 

okn izLrqr fd;k dkj.kksa ds lfgr crk;sa fd D;k csVk Hkkjrh; vuqca/k vf/kfu;e] 1872 ds vUrZxr os 

ml jkf’k dh mxkgh dj ldrk gS\ 

(4 Marks) 
 

(b) ,d dEiuh ds ik"kZn lhekfu;e dEiuh iathdkj dk iathdj.k ds fy, izLrqr fd;k x;k vkSj iathdkj us 

fuxeu dk izek.k&i= dEiuh dks tkjh dj fn;kA lHkh oS/kkfud vkSipkfjdrk,W iwjh dj ysus ds ckn 

dEiuh vius mís’; okD; ds vuq:Ik dk;Z djuk vkjEHk dj fn;k tksfd Li"V :Ik esa voS/kkfud O;olk; 

FkkA dEiuh dk dguk gS fd mlds O;kikj dh izkd̀fr vkSj Lo:Ik esa ugha tk;k tk ldrk gS D;ksafd mldk 

fuxeu fu’p;kRed gSA bl iz’u dk mRrj nhft, fd D;k dEiuh dk er Bhd gS ;k ughaA  

(4 Marks) 

 

(c)  dc 'krZ Hkax dks vk’oklu Hkax ds leku ekuk tk ldrk gS\ 

(4 Marks) 

 

Question 2: 

(a) fdu ifjfLFkfr;ksa esa LLP dk lekiu fVªC;wuy }kjk fd;k tk ldrk gS\ 

(6 Marks) 
 

(b) deZpkfj;ksa dh onhZ cukus ds mn~ns'; ls Jh ;kno us xgjs uhys jax dk diM+k [kjhnk] ijUrq fodzsrk dks 

viuh [kjhnh dk mn~ns'; dk [kqyklk ugha fd;kA tc onhZ cukbZ xbZ rks diM+k onhZ cukus ds fy, 

vuqi;ksxh ik;k x;kA gkykafd diM+s ls dsi] twrs bR;kfn cuk, tk ldrs FksA Jh ;kno dks D;k dksbZ 

vf/kdkj izkIr gS] oLrq fodz; vf/kfu;e 1930 ds rgr~ crkb,s\ 

(2 Marks) 
 

(c) iwokZf/kdkj o eky dks jkLrs esa jksdus ds vf/kdkj esa vUrj crk,s\ 

(4 Marks) 

 

Question 3: 

(a) A ,.M dEiuh dks 1970 esa ,d lk>snkjh QeZ ds :i esa iath—r fd;k tkrk gS ftlesa A, B vkSj C 

lk>snkj gSA 1971 esa A dh e`R;q gks tkrh gSaA 1972 esa B vkSj C, A ,aM dEiuh ds uke vkSj mlds 

vk/kkj ij X ij eqdnek djrs gS] ijUrq QeZ dk iqu% iathdj.k ugha djokrsA vc izFke iz'u] ftl ij 

gesa fopkj djuk gS] og gS fd D;k eqdnek fd;k tk ldrk gS \ vc mijksDr mnkgj.k esa D;k vUrj 

gks tk;sxk] ;fn 1972 esa B vkSj C us ,d lk>snkj D dks 'kkfey dj fy;k Fkk vkSj mlds i'pkr~ X 

ds fo:) fcuk iathdj.k djk;s eqdn~ek fd;k FkkA  

(6 Marks) 
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(b) jke] eksgu vkSj xksiky ,d QeZ esa Hkkxhnkj FksA lk>snkjh ds nkSjku] QeZ us lujkbt fyfeVsM dks QeZ 

dks ,d e'khu dh vkiwfrZ djus dk vkns'k fn;kA e'khu nsus ls igys] jke dh e`R;q gks xbZA gkykafd] 

e'khu dks ckn esa QeZ dks fn;k x;k FkkA blds ckn] 'ks"k Hkkxhnkj fnokfy;k gks x, vkSj QeZ lujkbt 

fyfeVsM dks e'khu dh dher pqdkus esa foQy jghA 

dkj.kksa ls Li"V djsa% 

(i)  D;k QeZ }kjk [kjhnh xbZ e'khu dh dher ds fy, jke dh futh laifÙk mÙkjnk;h gS\ 

(ii)  fdlds f[kykQ ysunkj ewY; dh olwyh ds fy, ,d fMØh çkIr dj ldrk gS\ 

(6 Marks) 

 

Question 4: 

(a) ^^vuqca/k dh fof’k"Brk dk fl)kUr^^ ds ckjs esa crk,s o fu;e ds vioknksa dk Hkh o.kZu djsa\ 

(6 Marks) 

 

(b) ^^;|fi vo;Ld vuqca/k djus esa l{ke ugh gS ijUrq og vU; i{kdkjksa dks ck/; dj ldrk gS^^ fVIi.kh 

dhft, \  

(3 Marks) 

 

(c) ^^vfuf’pr vFkZ okys le>kSrs O;FkZ gksrs gS^^ fVIi.kh dhft, \  

(3 Marks) 

 

Question 5: 

(a) vuqca/k ds lEca/k v;FkkFkZ fl)kUr dks Li"V djks lksgu us lwjt dks viuk eksVjlkbZfdy [kjhnus ds 

fy, izsfjr fd;k vkSj mls dgk fd eksVjlkbZfdy cgqr vPNh fLFkfr esa gSA lwjt us eksVjlkbZfdy ysus 

ds mijkUr ;g f’kdk;r dh eksVjlkbZfdy esa cgqr dfe;ka gSa lksgu us izLrko fd;k gS fd og mls 

ejEer djok nsrk gS vkSj ;g ok;nk fd;k og mls ejEer ij vkus okyh ykxr dk 40 izfr’kr Hkkx 

og nsxk dqN fnuksa ds cknr eksVjlkbZfdy us fcYdqy dke djuk cUn dj fn;kA vc lwjt djkj dks 

jí djuk pkgrk gSA dkj.k crkrs gq, fu.kZ; nhft,A  

(5 Marks) 

 

(b) fe- lsB] ,d m|ksxifr gSa vkSj og yEcs le; ls fe- jeu ds lkFk ,d eqdíes esa my>s gq, gSA viuh 

dkuwuh yMkbZ dks etcwr djus ds fy, og ,d dkuwuh lykgdkj fe- X ds lsok, izkIr djrs gS vkSj 

fe- X dks crkrs gS fd og ¼fe-lsB½ :- 5 yk[k fe- X dks nsaxs ;fn og fe- jeu dk dsl ugha ysxkA 

fe- X bl ckr ds fy, viuh lgefr ns nsrk gS] ijUrq eqdnek lekIr gksus ds mijkUr fe- lsB :- 5 

yk[k nsus ls bUdkj dj nsrk gS fu.kZ; djsa fd D;k fe- X Hkkjrh; vuqca/k vf/kfu;e] 1872 ds izko/kkuksa 

ds vUrxZr fe- lsB ls :- 5 yk[k olwy dj ldrk gSA 

 (3 Marks) 

 

(c) fodz; ds vuqcU/k esa xfHkZr vk'oklu dkSu&dkSu ls gksrs gSaA 

(4 Marks) 

Question 6: 

(a) ,y-,l-vkj- izkbosV fy- y[kuÅ ds ik"kZn lhekfu;eksa esa fn;s x;s mís’; okD; esa mls Qy rFkk 

lfCt;ksa esa O;kikj djus ds fy, vf/kd`r fd;k x;k Fkk] ysfdu dEiuh us ,d fe- ts- ds lkFk lk>snkjh 

djds LVhy dk O;kikj fd;k rFkk ?kkVk gksus ds dkj.k fe- ts- ds izfr mldh nsunkjh gks x;hA ckn esa 

dEiuh us fe- ts- ds izfr viuh nsunkjh ls badkj dj fn;k vkSj ;g rdZ fn;k fd mldk vkSj dEiuh 

dh lk>snkjh 'kfDr cká FkhA dEiuh }kjk ts- dks fd;s x;s badkj dh oS/krk dh tkap dhft,A vius 

mRrj ds leFkZu ds dkj.k crkb,\ 

 (5 Marks) 
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(b) Mr. X us vius fdlh ifjfpr ds lkFk feydj xjhc cPpksa dks i<+kus ds fy, /kkjk 8 esa ,d dEiuh 

cukbZA dsUnz ljdkj us dEiuh dks /kkjk 8 esa iathd`r djus ds fy, ykbZlsUl tkjh dj fn;kA dsUnz 

ljdkj us dEiuh dks [kwclkjh /ku jkf’k nh vkSj turk us Hkh dEiuh ds mn~ns’; dks /;ku esa j[krs gq, 

[kwclkjk nku fn;kA ckn esa dEiuh vius mn~ns’; ls HkVd xbZ vkSj tc dsUnz ljdkj us ;g ik;k rks 

dsUnz ljdkj us dEiuh dk ykbZlsUl jn~n dj fn;kA dEiuh dks vkns’k fn;k fd yMfd;ksa ds laj{k.k 

dk dk;Z djus okyh dEiuh ds lkFk mldk foy;u fd;k tk;sA dEiuh vf/kfu;e 2013 ds izko/kkuksa 

ds vuqlkj crk;sa D;k dsUnz ljdkj ds vkns’k lgh gS\ 

(5 Marks) 

 

(c) M us ;g ok;nk fd;k og N mldh lsok ds fy, Hkqxrku djsxk ij lsok M dh bPNk ds vuqlkj 

mfpr rFkk U;k;iw.kZ gksxh vkSj og gh bldk fu.kZ; djsxkA Hkqxrku feyus ij N ml Hkqxrku ls 

lUrq"V ugha gksrk gS vkSj og M ds fo:) nkok djuk pkgrk gS ;g fu.kZ; djks fd D;k N, M ij 

Hkkjrh; vuqca/k vf/kfu;e] 1872 ds izko/kkuksa ds vuqlkj nkok dj ldrk gSA 

(2 Marks) 

 

 

PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 

 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 

Question 7: 

(a) Comprehension Passages 

 Read the following comprehension passages and answer the following questions 

Passage 1 

 All languages are systematic and rule bound. Children across the world acquire their 

natural language in same manner. In this context, linguistics is not simply the study 

of foreign languages. It is the scientific, organized and systematic study of a 

language. Linguists examine and evaluate language one the basis of words, 

sentence, word order, pronunciation to discuss the internal language mechanism. 

Generally people understand that a linguist can speak many languages. However 

there is big difference between a linguist and a polyglot. India as a case in example 

has six distinct language families. It is estimated that approx. seventeen hundred 

languages are spoken in India only. Hindi is a rich language but does not still have a 

national language status in terms of official usage although it is official language for 

some states. English is official language for most other states. 

 Most countries have only one language besides Canada where French and English 

both are official languages. In the western world, countries are strongly associated 

with single languages and vic e versa. Linguists see this due to the rise of nation 

states in the past few centuries where single languages attained official status in 

individual countries, English in the United Kingdom, French in France, Italian in Italy, 

etc. However beneficial the official status of one language may be for a modern 

countryin terms of government, public discourse, higher education, etc., it is not 

helpful to other languages which may be found within the borders of a particular 

country. In many aspects language represents our identity and culture. Furthermore, 

even in countries where only one language is spoken, say Dutch in the Netherlands, 

there may well be different dialects of this language closely related to the national 

language. Even within Europe, and most certainly outside of it, the equation of one 

country with one language breaks down. Switzerland is a good example of a country 

where a single national identity exists across three major and one minor speech 
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community: Swiss German, French, Italian and Rhaeto-Romance. Beyond Europe it 

is more the rule than the exception for countries to have several languages within 

their borders. One need only think of such countries as India and China or Siberian 

Russia to see how many languages can be integrated into a single state. In such 

instances, there is of  course an official language which serves the function of a 

lingua franca, that is, a language which is used as a means of communication among 

those groups who do not speak each others language. 

 1. A linguist is one who 

  a- Knows many languages  

  b-  Make a language 

  c- Speak many languages 
  d- Master in programming language 

 2. India as a linguistic area has-  

  a-  A single language 

  b- Six languages 

  c- Only one official language  

  d- Many languages 

  

3. Language represents-  

  a-  Population 

  b- Identity 

  c- Boundary  

  d-  Civilization 

 4. Switzerland is famous for – 

  a- Natural diversity 

  b- Language identity  

  c-  Cultural identity 

  d-  National identity 

 5. Lingua franca means- 

  a- Any language used for speech and writing between business purpose  

  b-  Language for business 

c- Any language used for communication between groups who have no 

other language in common. 

d- Any language used for communication between the particular speech 

community 

(5 Marks) 

 

(b) Select the suitable substitute for the word in italics in the sentences given below. 

Ensure that the meaning of the sentence does not change. 

 1. The army captain was awarded the Param Vir Chakra posthumously. 

  (a) Secretly  

  (b)  Liberally  

  (c)   After death  
  (d)  Formally 

 2. Seeing the artist work with such finesse, the crowd cheered. 

  (a) Expertise  

  (b)   Casually  

  (c)   Authority  
  (d)  Unwillingness 
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 3. His parents were adamant about not sending their son for a two day trip. 

  (a) Poor  

  (b)  Inflexible  

  (c)   Willing  

  (d)  Unfavorable 
(3 Marks) 

(c) Explain Star Network.  

(2 Marks) 

Question 8: 

(a) Article Writing 

 Unemployment: A blot to Indian economy 

(5 Marks) 

 

(b) Mention any 6 barriers in communication. 
(3 Marks) 

(c) Fill in the blanks with the most suitable option. 

1. It was quite humorous to see the_______minister talk about health and 

fitness issues. 

  (a) Rotund  

  (b)   Corrupt  

  (c)    Angular  

  (d)  Quarrelsome 

 2. The sage is leading a__________ life in the mountain peaks. 

  (a) Spiritual  

  (b)   Boring  

  (c)   Graceful  

  (d)  Ghostly 

(2 Marks) 

 

Question 9: 

(a) Meetings 

 Your company, has witnessed a gradual decline in a consumer product over the one 

year. Prepare the minutes of the meeting for the same. Members in the meeting; 

Head of the Sales and Marketing, Product head, Product lead and concerned team 

members. 

(5 Marks) 

 

(b) Mention five characteristics of effective communication and explain any two. 

(3 Marks) 

 

(c) Rewrite the following sentences in the active voice. 

 1. The horse is being purchased by the farmer. 

 2. He will be given a ticket for over speeding by the police officer. 

(2 Marks) 

 

Question 10: 

(a) Précis Writing 

 Read the following passages and write a précis for the same. 

 The word „gender‟, originally a grammatical term, has come to refer to the social 

roles and behavior of individuals arising from their classification as biologically male 

or female. In other words, Gender is general terms is imported from the social 
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sciences for the sex or sexuality of human beings. Hence „gender difference‟, of a 

difference in speech between men and women; language and gender, as a branch of 

sociolinguistics dealing with such differences. This is a huge complex embracing 

virtually all aspects of social behavior of which language is only one. Recently, 

intensive research has been carried out about the relationship of language and 

gender, largely by female scholars who have felt drawn to the topic because of the 

obvious discrimination against women that has taken place in the past and which can 

still be observed today. The initial impulse was the work of the American linguist 

Robin Lakoff, who in the early 1970s focussed her attention on certain themes with 

the language and gender complex above those that she rightly felt required 

rectification. Her work stimulated other scholars to engage in this study and soon 

language and gender was a burgeoning research area in universities across the 

western world. Various opinions emerged on this relationship with two gaining 

particular focus. One is the difference approach which established that male and 

female language is dissimilar in spoken as well as written without attributing this to 

the nature of the social relationship between men and women. The other is the 

dominance approach which saw language usage by females and males as reflecting 

established relationship of social control of the latter over the former. With the 

maturation of research on language and gender the simple „difference – dominance‟ 

dichotomy was increasingly regarded as unsatisfactory and insufficiently nuanced. 

For example, to maintain that men have a competitive style of social behavior in 

western countries is a generalization that everyone would agree. However, there are 

men who are not competitive in this respect. There are common tendencies that one 

comes across such as men interrupt women more, women are more communicative 

than men, women gossip more than men, men speak more comfortably in public and 

are good in calculation than women. 

(5 Marks) 

 

(b) Explain informal communication. 

(3 Marks) 

 

(c) Rewrite the following sentences in passive voice. 

 1. I ran the obstacle course in record time. 

 2. We would reduce costs if we used less paper. 

(2 Marks) 

 

Question 11: 

(a) Letter Writing 

 Write a letter from xyz pvt ltd confirming the order placed and other details. 

(5 Marks) 

 

(b) Explain verbal communication.   

(3 Marks) 

 

(c) Change the following sentences to indirect speech. 

 1. She said, “I shall be taking a test.” 

 2. The clerk asked his manager, “Shall I email this letter again, Sir?” 

(2 Marks) 

 

  

*** 


